

$$x_{k+2} - (\lambda_1 + \lambda_2)x_{k+1} + \lambda_1 \lambda_2 x_k = 0, \quad k \in \mathbb{N}_0$$

$$r^2 \sum_{k=0}^{\infty} x_{k+2} r^{-k} = r^2 \sum_{j=2}^{\infty} x_j r^{-j} = r^2 [X(r) - x_0 - x_1 r^{-1}] = r^2 X(r) - x_0 r^2 - x_1 r$$

$$\sum_{k=0}^{\infty} x_{k+1} r^{-k} = r \sum_{j=1}^{\infty} x_j r^{-j} = r [X(r) - x_0] = r X(r) - r x_0$$

$$\sum_{k=0}^{\infty} x_k r^{-k} = X(r)$$

Preto $|r| > \lambda_1, \lambda_2$ máme $[r^2 X(r) - x_0 r^2 - x_1 r] - (\lambda_1 + \lambda_2) r [X(r) - x_0] + \lambda_1 \lambda_2 X(r) = 0$

$$X(r) [r^2 - (\lambda_1 + \lambda_2)r + \lambda_1 \lambda_2] = x_0 r^2 + x_1 r - (\lambda_1 + \lambda_2) r x_0$$

$$X(r) = \frac{x_0 r^2 + x_1 r - (\lambda_1 + \lambda_2) r x_0}{(r - \lambda_1)(r - \lambda_2)} = \frac{x_0 + x_1/r + \frac{(\lambda_1 + \lambda_2)x_0}{r}}{(1 - \lambda_1/r)(1 - \lambda_2/r)}$$

$$\Delta = r^{-1}$$

$$X(\Delta^{-1}) = \frac{x_0 + x_1 \Delta - (\lambda_1 + \lambda_2) x_0 \Delta}{(1 - \lambda_1 \Delta)(1 - \lambda_2 \Delta)} = \frac{A}{1 - \lambda_1 \Delta} + \frac{B}{1 - \lambda_2 \Delta}$$

$$A(1 - \lambda_2 \Delta) + B(1 - \lambda_1 \Delta) = x_0 + x_1 \Delta - (\lambda_1 + \lambda_2) x_0 \Delta$$

$$\Delta = 1/\lambda_1: \quad A(1 - \lambda_2/\lambda_1) = x_0 + x_1/\lambda_1 - \frac{\lambda_1 + \lambda_2}{\lambda_1} x_0 = \frac{x_1}{\lambda_1} - \frac{\lambda_2}{\lambda_1} x_0 = \frac{1}{\lambda_1} (x_1 - \lambda_2 x_0)$$

$$\Delta = 1/\lambda_2: \quad B(1 - \lambda_1/\lambda_2) = x_0 + x_1/\lambda_2 - \frac{\lambda_1 + \lambda_2}{\lambda_2} x_0 = \frac{x_1}{\lambda_2} - \frac{\lambda_1}{\lambda_2} x_0 = \frac{1}{\lambda_2} (x_1 - \lambda_1 x_0)$$

$$A = \frac{x_1 - \lambda_2 x_0}{\lambda_1 - \lambda_2}; \quad B = \frac{x_1 - \lambda_1 x_0}{\lambda_2 - \lambda_1} \quad (*)$$

Pač $X(\Delta^{-1}) = A \sum_{k=0}^{\infty} (\lambda_1 \Delta)^k + B \sum_{k=0}^{\infty} (\lambda_2 \Delta)^k = \sum_{k=0}^{\infty} x_k \Delta^k$

$$x_k = A \lambda_1^k + B \lambda_2^k$$

kde A, B jismodný vzorcem (*). $A + B = x_0$

a deň

$$A \lambda_1 + B \lambda_2 = \frac{x_1 - \lambda_2 x_0}{\lambda_1 - \lambda_2} \lambda_1 - \frac{x_1 - \lambda_1 x_0}{\lambda_1 - \lambda_2} \lambda_2 = \frac{x_1 \lambda_1 - \lambda_2 \lambda_1 x_0 - x_1 \lambda_2 + \lambda_1 \lambda_2 x_0}{\lambda_1 - \lambda_2} = x_1$$

POSTUP VE SPECIÁLNI M PRÍPADE

PRE S VYTVOŘUJÍCÍ FUNKCE

RESP. Z-TRANSFORMACI